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1 = HIGHLY ERIDIELE LAND POTENTIALLY HIGHLY ERODIELE
Z o= POTENTIALLY HIGHLY ERODIELE LAND CACULATOR VER 1.1
3 o= NOT HIGHLY ERODIBLE | WIND EROSTION i WATER EROSION
MAF ¢ I HEL R k. T SLOFE~ FPERCEN SLOFE--~LENGTH .5~ VALUE HE.
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&1 1AGE AGE ALLEGHENY 1 100 Q.8 150 0.3 4 = = 400 O E" ! =
a1 1AGC AGC ALLEGHENY 1 100 Q.3 150 0.3 4 = 15 100 400 0,291 1
A11ROR BOE BROOKE 1 100 180 Q.37 2 2 o 100 400 0,283 <
a1l BOC BROOKE 1 100 150 0.2 = o 15 100 400 Q.71 ' i
&1 1B0D BOD BROEE 1 100 = 150 0. ] 15 =5 100 400 £, 55 11. O.422 1
a11CAE CAER CULLEOEA 1 100 = 180 Q.32 3 2 = 100 400 O 22 0L500 =
A#11CAC CAC 5 1 100 £ 150 [l = = 15 100 400 0,.391 Q. BO0 1
A11CAD 1 100 2 150 Q.. ] 15 ] 100 400 Z.559 0LBO0 1
S11CKE 1 45 0.8 150 Q.32 e ] = 100 400 0.Z87 0,500 e
11 UFSHUR Z 40 0.5 150 Q.37 e e = 100 400 Q.Z3 Oud &
&11CKEC CULLEDEA 1 40 ' 0.8 150 0,32 ] = 18 100 400 0,991 1
a11CKC UFSHUR = Q. 180 Q.27 = = 15 100 400 ; B.119 1
&11CKD CULLEDQKA 1 Q.2 150 0,32 3 15 25 100 400 2.59%% 11,780 1
“11CKD UFSHUR = 0.2 150 Q.37 3 15 25 100 400 Z. 557 11.7820 1
S11DAE DEEALE 1 0.8 150 0,17 Z = = 100 400 0.287 1,92 =
“11DAC DEKALE 1 2 150 0.17 P4 3 18 100 400 0.991 .11 1
&11DAD DEEALE 1 ] 150 .17 & 15 pota] 100 400 Z.855%% 11,720 1
a1IDAF DEKALE 1 @ 150 0.17 = 8 =0 100 400 5 HECTER OLaZT 1
A11DED DEEALE 1 = 1580 0.17 Z =2 28 100 400 11.780 0,68 1
1100 DORMONT i = 150 0.43 3 2 = 100 400 1.922 0.372 s
&11D0c DORMONT 1 2 150 0.43 k] o 15 100 400 B.11% 0,372 1
&11D0D DORMIONT 1 o 150 0.43 2 15 28 100 400 2 11.720 O.372 1
“#11DTD DORMONT 1 k= 150 0.43 = 15 =5 100 400 Z.852 11,7230 O.37F 1
“#11DTD CULLETEA = = 180 0.3 ] 15 et 100 400 Z.855%  11.720 0,500 1
61IDTF DORMONT 1 k] 1560 0.43 e 25 50 100 400 B,.2%0 38,446 0,372 1
&11DTF CULLEDEA el b 1560 0.32 3 Ead B0 100 400 S.890 25,444 0.500 1
&11DU DUMFS 1 = 150 100 400ERROR ERRIOR ERROR ERRO
a11FA FLUVAQUENTS 1 0.2 160 ] o] ] 100 400 0.0&% O.435 0.721 3
411GDA GLENFIRD 1 0.2 42 180 5 Q 2 100 400 0,049 0,425 0,721 =
511GDB GLENFORD 1 0.8 40 160 =] 3 ] 100 400 O 287 1988 0.7E1 =
&11G6DC GLENFORD 1 0.8 44 150 3] = 15 100 400 0.991 g.11% 0,721 1
A11GER GUERNSEY 1 Q.2 42 150 cd 2 = 100 400 0.&3 1.w3E S =
a1 1GEC GUERNSEY 1 0.8 43 150 = = 15 100 400 0,791 S.11w 1
& 11GED GUERNSEY 1 0.2 45 180 2 15 poid ] 100 400 Z.55Y  11.730 1
&11HU HUNTINGTON 1 0.8 150 5 (o] = 100 400 0,089 1.070 b
&111.BA LIERARY ) 1 0.8 150 c] [¢] k] 100 400 0.0&%7 0,435 =
al1lL.BR L IERARY # 1 0.8 180 3 = 2 100 400 Q.37 1,932 bs
a11LRC LIEBRARY 1 .8 150 2 a i85 100 400 0,991 B.11% 1
&1 1NW NEWARL 1 0.8 150 L] O 2 100, 400 Q.06% 0. 4365 b
&11FY FURDY 1 0.8 150 3 0 e 100 400 0,04 s
A11UDE UDCORTHENTS 1 0.2 150 ] 3] b= 100 400 0,087 F
A11UDD UDORTHENTS 1 Q.8 150 <] =] =8 100 400 0,991 Z
A1 1UDF UDORTHENTS 1 0.2 150 = ) =5 100 400 5,8%0 F0.4494 1
A11UKE UDDORTHENTS i 0,3 180 [t O = 100 400 0O.067 1. was &
4A11UKD UDORTHENTS 1 0.8 150 ) = =5 100 400 0.991 11.780 jed
A11UKF UDORTHENTS 1 0,2 150 1] 8 365 100 400 B.270 20,444 1
ai1us UREAN LAND 1 Q. 150 100 400ERRDOR ERROR
a1 1WER WEE WEIKERT 1 0.8 150 = 3 = 100 400 0.8 1.°
A11KER WE L2 CULLEDKA e 0.5 150 ] 3 = 100 400 0,28 1.
aliWEC WEC WETEERT 1 Q.5 1680 by = 100 400 O.9wl ",
A11WEC WEC CULLECHKEA = 0.2 150 I = 100 400 0,991 H.11%
a1 1WED WED WEIKERT i Q. 150 = 15 100 400 Z.8585% 11,
411WED WED CULLEQKEA z 0.8 150 = 15 100 400 2,859 11,




